]

8210500

Item-nr. |Description A
0690050 |clamp plate for drinking bowl, 76mm 0418025
0690055 |clamp plate for drinking bowl, 89mm 0418030
\\‘ 7310030
N
\\
% Y 7112040
s N A
S .
N N -
\\
\\
0 R
Order-nr. Description Number
0690056 |clamp plate for drinking bowl 1
7112040 |hexagon-head bolt M12x40 galv. 4
7310030 |coach bolt M10x30 galv. 4
8210500 |self locking nylon nut M10 galv. 4
8212500 |self locking nylon nut M12 galv. 4
A mounting clip 2
clamp plate for drinking bowl
' Number: 069005x-O
S p I I l e r Unit: mm
DAIRY HOUSING CONCEPTS Date: 28-8-2019

No rights can be derived from this drawing.

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.




